Geometry Mid-Trem Review 2019 - 2020

1. Which word best describes the figure?

[A] plane [B] point (1C7 tine )

2. Which word best describes the figure?
[ ]

[A] line [B] plane C[C] point )

3. Which set of three points is noncollinear?
G
F G
) LY,

[A] C,D, G [B] B, E, D [C] B,F, C
4. Which set of three points is collinear?

[A] 4, B, D (Bl B,E,D [C] C,F, FE

[D] ray

[D] ray

N

(D] 4, C.E)

—
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5. Which figure shows AR

(u———= B] ;S %
(il . D]
6. Which figure shows AB?
= S
[A] (B] ¢ >
€l 5 5 [D] = "5

iy

CM1 2,2, @2 (2 -2) (22 B 6 -0, 6. 63,1 (3 )

[C] (-1, 3), (1, 3), (1, =3), (-1, =3)  [D] (4, 0), (0, —4), (~4, 0, (0, 4)



8. Determine which coordinates are the midpoints of the sides of the quadrilateral.

9. Name this angle in three different ways.

F
E —>
G
e
[A] £FEG, £ GEF, LE ) [B] £FGE, /GFE, LE
[C] ZLFGE, ZGFE, /F (D] ZFEG, LGEF, LF

10. Use a protractor and straightedge to determine which angle measures 120°.

([ 1A] (B]
X
N
[C] (D]
) Lo
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11. Use a protractor and straightedge to determine which angle measures 51°.

[B]

a\
¥ (l
v \

12. Find m£ZOMN and mZLMN if mZOMN =(2x+6)°, mZLMN =(8x—4)°, and

mZOML =62°, -
AKX+t Bx 4= LA A+ L=1§

0 JOX+ 4 =l 1N-4 2y
. P B (L) L{
K =0

@~

o
T

[A] mZOMN =20° and mZ LMN = 52° @]\ mwMN =18° and m£ LMN = e

e

[C] mZOMN =20° and mZ LMN = 44° [D] méOMN =18° and mZ LMN =52°

13. Find mZFDE and mZCDE ifméFDE=(2x+8)°, mZCDE :(6x-—6)°, and
L FDC =667, _
" Ina tlt—lb bl 28T = dH

. -~ Ll _
¥ X = LM
X<

[ o)

i\

o
@W) [B] m<FDE =24° and m/CDE =48°
[C] m£LFDE =26° and mZCDE =48° [D] mZLFDE =26° and mZCDE =42°
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14. If you hit the white ball, placed at any location on the table, in an attempt to strike the
8-ball, and the white ball hit point X at a 55° incoming angle, how many degrees off would

the white ball miss the 8-ball?

44

( [A] approx1mately 8° __'; [B] approximately 12°

[C] appr0x1mately 55° [D] It would not miss the 8-ball.

15. Which is a counterexample to the definition below?
A rectangle is a figure with 2 pairs of congruent sides.

: \K

[C] [D] There 1s no counterexamp]e for this definition.

16. Determine whether the statement is true or false. If it is false, choose the correct
counterexample.
Any number that is divisible by 2 is also divisible by 4.

[A] True [B] False. One counterexample is 16.

( [C] False. One counterexarnple 18 454 3 [D] False. One counterexample is 88.

e e —

17. Which is a counterexample to the following faulty definition?
A square is a figure with four right angles.

[A] Octagons are figures. (‘/ B] Rectangles also have four right angles.

[C] A line connects two points. [D] A triangle has three angles.
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18. Which is a counterexample to the following faulty definition?
A circle is a figure that is round.

[A] Some ellipses are small. [B] A circle can be big.
( [C] _QY£iqr,EIES¢S firi?,ls.? f% ) [D] A square is a figure.

19. Which is a concave non-polygonal figure?

[A] ~ (B]

[C] Q )

[D]

GABEAN



21. Find a congruence statement for the two triangles. Then, determine whether BC and @
represent corresponding angles, corresponding sides, or neither.

A B
BAC QAR

[A] A4ABC = APQR; corresponding angles
[B] AACB = APQR; corresponding angles
1C] _AABC = APOR; corg:sponding- éidesﬁ D
[D] AACB = APQR; correspo_r_lding- é}ges

e

22. Find a congruence statement for the two triangles. Then, determine whether £B and ZQ
represent corresponding angles, corresponding sides, or neither.

' P
BAC QAR

[A] AACB = APQR; corresponding angles [B] AABC = APQR; neither

[C] AACB = APQR; neither ‘ tD] AABC = APQR, corresponding_ angi(e’g 3

23. AABC=

N

U
Ll

[A] ANMP [B] ANPM (] aMNP i [D] ACAB



24. If BCDE is congruent to PQRS, which statement is true?

c
@
E D 0

[A] DE is congruent to RSJ [B] BC is congruent to QR.
[C] DE is congruent to PS. [D] BE is congruent to PQ.

25. Based on the marks in the diagram below, which pairs of lines can you assume

perpendicular?
A A
0 P S
S ]
<5 o>
v v
— . —
[A] RO is perpendicular to OP only [B] OP is perpendlcular to PQ only

a4 A T

( [C] RO is perpendlcular to OP and OP is perpendlcular to PQ /

e e e 2 e S e =

e e TR

[D] cannot assume any lines perpendlcular

26. Based on the marks in the diagram below, which pairs of lines can you assume parallel?

7

o
v
@; JK is parallel to JYO ) [B] JK is parallel to LM
[C] NO is parallel to 774 [D] cannot assume any lines parallel
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27. Based on the marks in the diagram below, which angles can you assume congruent?

m A

A B
C
D
E
T e e vt oo s s T
[A] £BFA= /DFE and £ZBFD= AAFE) [B] £C and ZDEA
[C] £C and £BAE [D] £BAE and £LDEA

28. Based on the marks in the diagram below, which sides can you assume congruent?
A

- £
B @AE = AC [B] CE = AE [C] AE =DC [D] CA=CE

[A] line o and line n [B] line / and line

[C] line ! and line m r[']j]ﬂcﬂ;n'hb'f aﬁssllg@apy_‘ hI_lES parallel_;}n



30. Which figure is a quadrilateral with no special name?

[A] E (B] (]

31. Which figure is not a parallelogram?

([A} 6\ (8] €] D D)
. e
\u‘/’é

32. Find a radius of the circle. [A] O [B] OS '@.O_R“‘ [D] RS
o R
(0]
S
33. Find the center of the circle. [A] B [B] SO [C] OS @] Jg;
0 R
o]




34. Which figure shows center 4 and radius AD?

[A] [B]
B U
E| & C R T
A
2 S
(] /D)
M N ”
|
:\‘5.‘
i l
\ ‘.\‘\\:‘
0 P AN

35. Identify a central angle.
D

.g@ [B] £4CO [C] DC [D] OC



36. Identify two chords.

[A] CD and GH [B] EF and GH (Qq CD and EF) [D] CO and DO

37. Identify two chords.
2 0

P

S

[A] PO and TU  [B] PO and Q0  [C] RS and TU @ PQ and E'

=
T ———

38. Can the rectangular prism below make a shadow in the shape of a circle?




39. Which of the following shows a three-dimensional figure sketched from these views?

®

Top

Front

/Right

Right
[B]
Front
(D]
/
Front

/ Right



40. Which of the following shows a three-dimensional figure sketched from these views?

Top Front Right
) 4 /18]
?';
|
l‘\\ / l-‘.‘I
/ Right \ / Right/ /
Front ' \\\E{% P
€] [D]
Right Right
Front Front "
¥
b
41. The chairs for a concert are arranged so that each row has the same number of chairs. i
Melissa has 8 seats in front of her, and 6 behind her. There are 4 seats to her left and 6 to (’:\ i
her right. How many chairs are set up? s w8 XY
. ~
2 15)*
[A] 169 [B] 167 ( ingGSJ [D] 173 i L“\;Lug
b3
42. The chairs for a concert are arranged so that each row has the same number of chairs. %
Christina has 9 seats in front of her, and 3 behind her. There are 5 seats to her left and 7 to Y
her right. How many chairs are set up? o
[A] 174 [B] 189 [C] 173 (_[D] 169
b3
X
>



Identify the figure that models the associative property of multiplication.

43.

i
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Identify the figure that models the associative property of multiplication.

[C]

et W \\

44,



45. Which of the following solid figures does the net represent?

—

[A] cylinder [B] cone (J:[C] hexagonal prism, [D] hexagonal pyramid
P e
46. Which of the following solid figures does the net represent?
I 1
[A] hexagonal pyramid [B] rectangular pyramid
[C] cylinder ([i] rectangular-prisrﬁ"ﬁg

47. Identify three solid figures that could have the cross section shown below.

O

(’.[E_x_]__j__l_ﬂzgei,‘;)_f_l:iﬂgq,fgnd co;{é.\i [B] pyramid, cube, rectangular prism

[C] cylinder, triangular prism, cube [D] cone, rectangular prism, pyramid

48. Which solid could have the following cross section when it is cut by a plane?

’/”. - =
[A] hemisphere  [B] sphere ([C] triangular pyramid ,  [D] cylinder



49. Which solid could have the following cross section when it is cut by a plane?

[A] cube ,\ -[B] cone ‘) [C] hexagonal prism  [D] sphere
RN

50. Which is the best example of inductive reasoning?

3,

[A] A math student observes that the number 132 is divisible by the number 4. The
student concludes that any even number is divisible by 4.

[B] A student measures the angles of one square and finds they are all 90 degrees. The

student concludes the angles in every square are 90 degrees.
> pE

size within an hour. e ——————in

[D] A scientist observes on Monday that it takes a certain material 2 hours to decompose.
On Tuesday, the scientist observes the same material takes 3 hours to decompose, and
on Wednesday it takes 2 hours to decompose. The scientist concludes that it will
always take 2 hours for that type of material to decompose.

The two lists below give some examples of numbers which have a certain property and
numbers which do not.

Do: 2,6,8,12, 14,16, 18,.. ...

Do not: 1, 5, 9, 15, 19, 25, 33, .

Which conjecture could be true about the numbers whlch do not have this property?

@umbers which do not have thls S property are o odd 3

[B] Numbers which do not have thlS property are even.
[C] Numbers which do not have this property are prime.

[D] Numbers which do not have this property are not prime.

4 [C] A scientist observes during many tests that a certain bacteria colony doubles insize ™\
@ an hour. The scientist concludes that this bacteria colony will always double in

,

)



52. The two lists below give some examples of numbers which have a certain property and
numbers which do not.
D 2,.3.6, 10, 11, 13, 15.. .
Donot: 1, 9, 16, 25, 36, 49, 81, . ..
Which conjecture could be true about the numbers which have this property?

[A] Numbers which have this property are perfect squares.
(TB] Numbers which have this property are not perfect squares.
[C] Numbers which have this property are not prime.

[D] Numbers which have this property are prime.

53. If the pattern were continued, what would be the ratio of the number of unshaded squares
to the number of shaded squares in the next figure in the pattern?

2Y
25
L8
o “
5
A 8 40
Al — ] — D] —
Q ] 40 8 €] 9 (D] 41
54. When you use reasoning you are generalizing from careful observation that
something is probably true. When you use reasoning you are establishing that, if a

set of properties is accepted as true, something else must be true.

L[A] -induétiive; deductive [B] deductive; deductive

[C] deductive; inductive [D] inductive; inductive



55. Three girls are in three different rooms. Jane always tells the truth. Kim sometimes tells the
truth. Naomi never tells the truth. Use the statements made by the person in each room to
tell who is in each of the rooms. P
-
Room 1 gumw Room 2 Room 3 Jene

The girl in Room 2 is Jane. | I'm Kim. | The gir]l in Room 2 is Naomi.

[A] Room 1 - Jane; Room 2 - Naoml Room 3 - Kim

( [B | Room 1 - Kim; Room 2 - Naoml Room 3 - Jane )

[C] Room 1 - Kim; Room 2 - Jane; Room 3 - Naomi

[D] Room 1 - Naomi; Room 2 - Kim; Room 3 - Jane

56. Three boys are in three different rooms. Sam always tells the truth. Ralph sometimes tells
the truth. Hiro never tells the truth. Use the statements made by the person in each room to

tell who is in each of the rooms.
o
Room 1 Room2 Souwn Room 3 {Lalgh,
I’'m Ralph. | The guy in Room 1 is Hiro. | The guy in Room 1 is Sam.

[A] Room 1 - Ralph; Room 2 - Hiro; Room 3 - Sam
QB ] Room 1 - leo R00m2 Sam; Room3 Raldph;_'__.

o — e

[C] Room I - Sam; Room 2 - Ralph; Room 3 - Hiro
[D] Room 1 - Ralph; Room 2 - Sam; Room 3 - Hiro

57. The definition of a parallelogram says, “If both pairs of opposite sides of a quadrilateral are
parallel, then the quadrilateral is a parallelogram.” Quadrilateral LNDA has both pairs of

opposite sides parallel. What conclusion can you make? What type of reasoning did you
use?
—— S T —

[A] LNDA is a rectangle; deductive /: ] LNDA is a parallelogram deduétwe)
[C] LNDA is a rectangle; inductive [D] LNDA is a parallelogram; inductive




58. Choose the correct rule for the sequence. Find the nth term in the sequence if you know its
term number is .

Term | 1 2 13(4|5]|...|n
Value | =4 | =125
+5 +3 1 +3

[A] Multiply the term number by —8 and add 4; —8n+4
[B] Multiply the term number by —7 and add 3; —7n+3
[C] Multiply the term number by 4 and subtract 8; 4n—8

e

C[D] Multlply the term number by 3_ arld subtract 7 3n 7“\

59. Choose the correct rule for the sequence. Find the nth term in the sequence if you know its
term number is 7.
Term | 1 |2 (3|4 |5 |...|n

Value | =32 |7 (12|17

+3S +5 5 1—5
[A] Multlply the term number by —9 and add 6; —9n+6

@3] Multrply the term number by 5 and subtract 8 5n -8 0

[C] Multiply the term nurnber by 6 and subtract 9; 6n -9
]

[D] Multiply the term number by —8 and add 5; —8n+5
60. a. Draw as many diagonals as possible from one vertex of a convex hexagon. How many
triangles are created within the hexagon by those diagonals?

b. What is the formula for the number of triangles, ¢, created in a polygon by drawing as
many diagonals as possible from one vertex, if # is the number of sides of the pblygon‘7

[A] a. 16 triangles [B] a. 6 triangles [C] a. 2 triangles [D] a. 4tr1angles "\-j
b. t=n+10 b. t=n n « b t=n-=2 7
b, i= 5 s

61. Find the rule for the nth figure. Then find the number of colored tiles in the 200th figure.

[A] 2n; 400 [B] n+8; 208 [C] 8n; 1600) [D] n+2; 202
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62. There are thirty-two teams in a soccer tournament. Each team plays until it loses 1 game. 32~ '
There are no ties. How many games are played?

[A] 15 games (B] 16 games  ([C] 31 games > [D] 32 games

63. There are sixteen teams in a soccer tournament. Each team plays until it loses 1 game. ) ~!
There are no ties. How many games are played? P
[A] 7 games [B] 16 games [C] 8 games @] 15 games“_-

64. If you draw 35 lines on a piece of paper so that no two lines are parallel to each other and
no three lines are concurrent, how many times will they intersect?

N _(Ss33. 54¢
- =

-

[A] 1190 (B 595) [C] 18 (D] 35

65. The 12th grade class of 80 students is assembled in a large circle on the football field at
half-time. Each student is connected by a string to each of the other class members. How

many pieces of string are necessary to connect each student to all the others?
80(81) 79(80)

[A] = 3240 tB] =3166") [C] @:40 [D] 79(80) = 6320

——

66. If a polygon has a total of 560 diagonals, how many vertices does it have?

. -3 .
[A] n(n—3)=280; there are 17 vertices [B] n(n2 ) = 280; there are 17 vertices

—

——

[C] n(n-3)=560; there are 35 vertices == =) = 560; there are 35 vertices

67. If there are 20 people at a party and they shake hands with each other exactly once, how
many handshakes are there in all?

n(n-1)
o ( 1) e 190 b
yields 190 hfiihakj [D] n(n—1) yields 380 handshakes

-1
yle]ds 190 handshakes [B] i 5 ) yields 380 handshakes

(e

[C]
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68. Which pair of angles are a linear pair?

([A] £FAB and £BAC [B] ZCAD and ZGAF
[C] £BAC and LFAE [D] £FAB and /GAE

69. Which pair of angles are a linear pair?

Vv

(A] £EAF and ZFAB) [B] £DAE and £EAF
[C] ZEAF and ZCAD [D] £FAB and ZFAD



70. Which pair of angles are a vertical pair?

[A] £DAE and ZEAF [B] £BAD and ZDAE
e
(" [C] £BAD and ZGAE ) [D] ZDAE and ZDAE

71. Which pair of angles are a vertical pair?

[A] ZCAE and ZCAE [B] £BAC and ZCAE
/ e ————— e

[C] £CAD and ZDAE D] £CAD and ZGAF )

— S



72. Determine the converse of the statement and whether it is true or false. If the converse is
false determine the correct counterexample.
If two angles are vertical angles, then they have equal measures.

[A] If two angles do not have equal measures, then they are not vertical angles.; True
7 [B] If two angles have equal measures, then they are vertical angles.; False x.,_\
N A

|
N

[C] If two angles are vertical angles, then they have equal measures.; False

90° 90°

[D] If two angles have equal measures, then they are vertical angles.; True

73. Find a and b.

~

) o— A=\1B0— A= n<s

b= | %0O-124=56

62° b

A 4

[A] a=62°, b=34° [B] a=62°, b=56°
(IC] a=118°, b=56>) [D] a=118°, b=34°

e




74. Find a and b.

5 Q= 106G = I1Y
a 121°
b=150-13(=5"1
66° . b
(TA] a=114°, b=59") [B] a=114°, b=31°
[C] a=66°, b=31° [D] a=66°, b=59°

75. Which quadrilateral is a parallelogram?

c .
105°

AN
N
‘l ]
A D
T— -
[C] c (D]

70° 750 C

B {109° D
103°
705 75° #




76. Which quadrilateral is a parallelogram?

(Al -
75° " - C
= 103°

’ 7a5° . .
Y A
-- C
/€] . .
] | B
(I " \ 105°
\ 5 {l0s° 5
.\\ 779 / A : ! D
\ ye
G v
S~ o

77. Choose the missing reasons of the paragraph proof.
< \1\ >/

B 4

3

k
Lines / and m are parallel and intersected by transversal 4. Pick any two alternate exterior
angles, such as Z1 and £4. According to the Conjecture £1= £4. And, according
to the Conjecture, £4 = /3. Substitute £1 for Z4 in the statement to get
Z1= /3. But £1 and £3 are corresponding angles. Therefore, if the alternate exterior
angles are congruent, then the corresponding angles are congruent.

[A] Altemate Interior; Vertical Angles
[B] Corresponding Angles; Alternate Exterior
( [C] Alternate Exterior; Vertical Anéiés) [D] Corresponding Angles; Vertical Angles

78. Which shows the slope of the line passing through the points A(—3, —3) and B(5, —6)?

9 /a0 8

[&] -5 [B] 0 (ﬁ;]—g ‘ (D] -3
\,X_{_;_”.)__,/ E) B 3
= =3 = &
m= \j_’) kj 1 - —-5-_: (_—'5) 8



79. Which shows the slope of the line passing through the points 4(6, 5) and B(-2, 7)?

P e

81. Use slope triangles to calculate the slope of the graphed line.

D] 3

g
L |

Sl
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82. Find the values of x, y, and z.
N

% basda= Au 190-at=BE
Y. WPEEREY
) 1. Gu+ale =12 50 (Ro=led

325

62° L z
M P o

[A] x=94°, y=86°, z=60° [B] x=94°, y=86°, z =58
(TC) x=86°, y=04°, z=60°) [D] x=86°, y=94°, z=58°

83. Find the values of x, y, and z.
N

¥ L3096 150 -9 L =M

3‘.&;\.;*30:6“#
a1 ik 256

2, QI3 =

[A] x=96°, y=84°, z=56° [B] x=84°, y=96°, z =58
[C] x= 9605 y= 84°, z=158° ( []fd).]?‘x;faﬂ}?;fio—,z = 580 :x



84. Find the values of x and y. Y10 -L29240

. Y- 12010260
Z5
< 12040 oY
J L

B

v

[A] x=60,y=80 [B] x:60°;y=40°
[C] #=60°; p=130" C‘[ﬁ’]” mﬁ)
85. Find the values of x and y.
Lh -|O0-10B= =1a
//\\ 4~ o512 = J6

< 108512 73 Y

[A] x=36° y=108° (1B] 5=36% y=72>
[C] x=72°%; y=52° [D] x=72° y=108°

86. If the perimeter of ASTV is 18 yards, what is the value of y?

Vv
1% _
y = -
60° 60°
S T

[A] y=12yd [B] y=18yd [C] y=60yd @=6yd\,})

87. Ifthe perimeter of ASTV is 30 yards, what is the value of ?

/\ 1o

( [A] y—lOyd/ [B] y—60yd [C] y=20vyd [D] y=30yd



ccroll
Pencil


88.

89.

90.

(’6'05 (0 )_53

Find the slope-intercept form of the equation of the line with x-intercept —5 and y-intercept

—5, me S0 . _\
S -5
[A] y=—x+5 [B] y=x-5 [C] y=—5x—1 D] y=—x-5)
(= ?\ “1-0
Find the s%)pe—intercept form of the equation of the line with x-intercept _Z and m:- 57 ._\3 -4
(L~ | -(-T

y-intercept — L

[A] y=-x-4 @y=~4x—11 [C] y=—4x+1 [D] y=4x-1

Which graph has a line with the same slope as the line given by the equation y =4x—6?

[A]

[D] N
IRBEE e dUpRE b R eg s
s r sz s e s 4 24
, {igggggggggzt::::::::::>
o [ R M S 5.7
e e b L REE Cu LR
DI gt i il
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91. Which graph has a line with the same slope as the line given by the equation y = -5x+7?

. 1 3
i o = —x-= 3
92. Find the x-intercepts of y 5 x N O=-5v%- =
5 el e
[A] x-intercept -~ C,[l;]' x-intercept =-3 - &
X=-2
[C] x-intercept =% [D] x-intercept =——
03. Find the x-intercepts of 1x 4 5
. H - =—lx—=.
Y 9 o O=--\x" 7§
] 9 . 55-7“\ X = . 2"
[A] x-intercept = z [B] x-intercept = — z ) b

[C] x-intercept =— = [D] x-intercept = 2
5 9



94. Which equation could best represent the line in the graph below?

] y =mx+b where m represents a negative slope and b > 0.

B] y =mx+b where m represents a positive slope and b 2 0.

(:D] y=mx+ b where m represents a pOSI'ﬂVe SIOPe and b =0

[A
[
[C] y =mx % b where m represents a negative slope and b < 0.
[

[A] y=mx+b where m represents a negative slope and b < 0.

] y mx +b where m represents a negatwe slope and b=0.

i e

[B
L[(_S] JL — mx +1 b where m reﬁresents a posmve slope and b < 0
[

D] y =mx+b where m represents a positive slope and b = 0.



96. Which equation best describes the graph below?
YA

4 S
() y=3r+ @m@ (€] y=3x=4  [D] y=-1x-4

97. Which equation best describes the graph below?
YN

[C] y=-2x+4 [D] y=—é—x-4

98. Determine which three lengths can be measures of the sides of a triangle.

[A] 4cm, 12cm, 18cm 1, 412 [B] 7cm, 8 cm, 15 cm 19715
T R, 8o 17413
[C] 8 cm, 8 cm, 1S cm |l> 15 [D} 12 cm, 5 cm, 18 cm .

99. Determine which three lengths can be measures of the sides of a triangle.

[A] 14cm, 21 em, Sem 194 [B] 7cm, 14cm, 7cm T =Y

(TC] 14 cm, 7 cm, 8 em 1S > Iy [D] 21 em, 14cm, 6em 2 0 Al
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100. Arrange the unknown measures in order from greatest to least.

P

e S—

(1Al b a )

——

e

101. Arrange the unknown measures in order from least to greatest.

[B] ¢,a, b

(1Al abe)

10 in.

102. Find the value of x.

[A] 92°

103. Find the value of x.

[B] 176°

(€] & ¢, @

—

12
= =36

[C] 108°

e 44 )

(o 36°)

[D] b, a, ¢

[D] ¢, a, b

[D] 88°
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104. Use the markings on the diagram to determine why AADB = ACDB. Choose the correct

corresponding parts.
B
D
A G

[A] SSS, LA=ZC, ZABD = ZCBD, ZADB = ZCDB
[B] ASA LA = ZC AB CB, AD=CD

—

¢ ]SAS L= xC, AD=CD, /BDA = LBDT}

[D] SSS, A= /C, AB=CB, /ABD = ZCBD

105. Use the markings on the diagram to determine why AADB = ACDB. Choose the correct
corresponding parts.
B

A c

[A] ASA, ZA= /C, AB=CB, AD=CD
[B] SSS, £4 = £C, ZABD = ZCBD, ZADB = ZCDB

——

C[C] SAS. /A= zc AB=CB, ZABD = /CBD BD >

[D] SSS, ZA= ZC, AB=CD, /BDA= £ZDBC



106. Determine what information you would need to know in order to use the SSS Congruence
Conjecture to show that the triangles are congruent.

B

D

ES—

AD=CB) [C] £ADB=/CBD [D] AD=BD

e m—

[A] ZBAD= ZCDB ( I[B]

107. Determine what information you would need to know in order to use the SAS Congruence
Conjecture to show that the triangles are congruent.

A B

E F

(A] 4BIIFE  [B] £CAB= /DFE ( [C] AClDF.) [D] £CAB= ZCEF

108. Determine which triangles in the figure are congruent by SAA.

A
B

E -

[A] AADE = AEBA ( [B] AABF=AEDE’
[C] AABF =AAFE [D] AEFD = AAFE



109. Determine which triangles in the figure are congruent by SAA.
A

E
[A] AAFE = AEBC [B] A4BF = AEDF
—
([C] A4BE=AEDA ) [D] ACEB = AAEB

110. Determine which triangles in the figure are congruent by ASA.

B

D
A C
[A] A4BC=AADC [B] ACBD = A4BC
[C] A4BD = AADC ([D] A4BD=ACBDD

i— —

111. In the figure below, LJ bisects ZIJK and ZILJ = ZJLK. Find a congruence statement for
the two triangles in the figure and name the congruence shortcut used.

I
L J
K
[A] AKLJ = ALLJ; SAA @B] AILJ = AKLJ; ASA)

[C] AKLJ = ALIJ; ASA [D] AILJ = AKLJ; SAA



112. Refer to the figure below. Find a congruence statement for two triangles in the figure and
name the congruence shortcut used.

o
i id R
An
L
Z T s
[A] AWRT = AWPZ; SAA (B] ARPQ = ASTR; ASA™
[C] AWRT = AWPZ; ASA [D] ARPQ = ASTR; SAA

113. Refer to the figure shown. Which of the following statements is true?
BCIEF, BC=FE

5 — I c
D
M |
E ro= F
[A] ABCD = AEFD by ASA [B] ABCD = ADFE by SAS
[C] ABCD = ADFE by ASA (D] ABCD = AFED by ASA )
114. Can you show that BD is a median of AABC? ('[A] Yes ) [B] No
R




115. DE is a median and altitude of AGDF. What is the measure of angle DEF?

D

G

F ——

o

[A] 180 degrees [B] 45 degrees g‘f [C] 90 degrees / [D] 360 degrees

116. Which shows a median of a triangle?

[A] [B]

20° 257

25°30




117. Can you show that BD is an altitude of AABC? [A] Yes \

_[B] No
o
B
25° |23
A D (2
118. DE is a median and altitude of AGDF. Classify the triangle.
a D
E
F
[A] scalene k J[B] isosggle_éf‘» [C] equilateral [D] none of these

119. Which biconditional statement is true?

[A] T'wo angles are supplementary if and only if they form a linear palr

(i B] A ray bisects an angle if and only if it divides the angle into two c congruent angles \
[C] Two lines are parallel if and only if they never intersect. .

[D] A point is the midpoint of a segment if and only if it is between the endpoints of the
segment.

120. Which biconditional statement is true?

[A] A point is the midpoint of a segment if and only if it is between the endpoints of the
segment.

[B] Four points are non-coplanar if and only if they are non-collinear.

[C] Two lines are parallel if and only if they never intersect.

' 1 Two angles form a lmear pair if and only if their n0nadJacent 51des form a Ime

e ———————





